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Review &
Preview

4-56. See below:

.y =537 - 1.58x, where x is the number of months take the supplement and y is the number of days to cold
will last.

b.y=616—158x and y =458 — 1.58x, based on a maximum residual of -0.79_
c.0t0 1.4 days. The measurements had one decimal place.

d. Between 4.6 and 6.2 days. The y-intercept is the number of days a cold will last for a person who takes no
supplements.

e. Students should predict that a negative number of days makes no sense here. Statistical models often cannot
be extrapolated far beyond the edges of the data

f. A negative residual is desirable because it means the actual cold was shorter than the model predicted.
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4-57. See below:
=12
ax=Y
b.x=15

4-58. 48 m/min for cockroach versus 30 m/min for centipede or 80 cm/s for cockroach versus 50 cm/s for
centipede. The cockroach is faster.

4-59. y=2x+6; 206 tiles
4-60. See below:
a3

b. /10 %3.16

4-61. See below: o
a4’

b1
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4-62. See below:

a. See scatterplot below. y = 1.6568 + 0.1336x. Students need to round to four decimals, because if they round
to fewer decimals, the LSRL gets too far away from the actual points due to the lack of precision.
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b. See table below; sum of the squares is 0.5881 in2.
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Distance from wall (in) Residual (in)

144 ~0.198
132 0305
120 ~0.391
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4-63. y=20-1

4-64. See below:
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4-65. See below:
a.-127
b.10

. 35 0r0.03125

d.-8.476

4-66. See below:
a.Ttis a parallelogram, because MV /PQ (both have a slope of —2 ) and NP // MQ (both have a slope of -3)

5., 7)

c. Possible response: Reflect MN'P'Q’ across the y-axis and then rotate it 180°.

467 x=11




